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BEFORE ATTEMPTING THE QUESTIONS READ INSTRUCTIONS CAREFULLY.

INSTRUCTIONS TO CANDIDATES
Bl o FoPna® , whenfirat & foro Frar

L s@mdla seqme (reyl orasid SPIA erpie 393 offyara gorn e o A, am Jwm a3
aferim w93 fava « g e $6a sffvaift afen am sz oz )1 oz oz offze ffe
aruem Rafeferbaa wwa ofaw (el AurenFs |

The candidate is required to write his/ her Full Name, Roll Number and Registration Number
on the Question-cum-Answer Booklet according to the Admit Card issued by the Council ( If it 18
wrongly written, the Question-cum-Answer Booklet may be rejected ). It 18 compulsory for the
examinee to get the Question-cum-Answer Booklet signed by the Invigilator in the space provided.

e wifae grr el T vAn T & SER WE-We-I (i WA G AW, e T A
Ry T fod (af o o T @ wA-wE-I qfe R @ A | e o
T¥E-TE-IWR YR § 9o W W A § gEeR stard w9 | e o |

2. fersfefes eraedfa of el erra wHfice Np Roald ©rre oy wafd W@ arw Fe¥ =0y, @i @
e feemfld (a, b, ¢ W@ ) Fravs 3@ Afra Toafeles epedlia (> wa@Ea ) ofel evez S

o&WE TE (@R T R wwe wud e fwre 3@, W@ J9 |

A box is provided at the right side bottom against each question of MCQ for three versions. You
must write the correct choice ( @, b, cor d ) in this box. For SAQ of 1 mark, answer to be written
in the specific given space against each question, not anywhere else.

TEfaFedrg wvA A diA et § ¥, 99E v & A g 0 Us a1e Qg1 g3 €1 39 aEE H
TEl faweT (a, b, ¢ 39T g) for@ |y &Y I W (1 3F) F IW UEH WEH W I, 71T
el

3. @ e Tud offeeiit W epred faetfRe | W @it owea sewr At fmifSw R 2w, orwa s

wrE por A Reafew zwa

All questions of this Question-cum-Answer Booklet are trilingual. In eas§ of any doubt or
confusion, English version will prevail.

7| T-E-3A YRt & wvit W A wrerat § € e wner @ wew F 3fe svar ww ar A
U TATAT /I EOT |

4. @1 ora grer Y@ TaAoaa A a8 e $9R offieiit s ey fire zra)

After completion of the examination this Question-cum-Answer Booklet must be tied
securely with main Answer-script.

THEAT HIEA FH T A IAC-UT & WY WIA-WE-I RAwT H St § &g §)
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ofel o0 Raw Swref wun e Taal cag Fron CAME® Ny owa Ao

1

(fazw emafa awdia) I x 10 =10

Select the correct answer out of the options given against cach question and write

in the box provided on right hand side bottom (Alternatives arc o be noted) :

mmaﬂuﬁwﬁmmhwﬁdaquﬁawhyncrzaarmﬁfaé
(FFfeqs T W &9[ )

(1)

mfmwfwmqﬁzmmuﬁmqﬁm@mmmm@ﬁwmm
wreTe FEfeRoTe @ I 3@
(@) 1 e @ (b) 1 o T

(c) 1 @3 39N (d) =TI

If the rate of change in quantity demanded is greater than the rate of
change of price, then the absolute value of price elasticity of demand
will be

(a) greater that 1 (b) less than 1

(c) equal to 1 (d) zero.
mﬁmaﬁgﬂmﬁqﬁaﬁﬂaﬁqﬁqﬁaﬁ?ﬂ@aﬁm%aﬂuﬁﬁaﬁm

a1 WA T &

(@ UH Y AfuH (b) TFHFH

© T % TR @ T ]
(ii) ot Fir T @@l TR T

()  effH A TN

(b) e e oent I

() Frar forfir aran oo oY

(d) Pi5rare @ AW |
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One example of fixed cost of a firm is

(a) Cost on account of wages

(b) Electricity and fuel cost

(c) Payment for insurance premium

(d)  Expenditure on purchase of raw materials.
foredt wif @1 fem &mTa &1 IR R

(a) AN & @A H AN

(b) fasTedt aor v e

() i fufgam & fow g

(d e H G W 4|

(i) CAeMERR R wpTE Qe @it =29

(a)  f=emd (b) wgh
()  Teml d) TEE
According to the law of supply, the supply curve is
(a) downward sloping (b) horizontal
(c) upward rising (d) wvertical.
- ofa & a9 & ER qfq 9% ¢
(@) &9 ¥ A Rafa # @R eR]
(b)  &fas
(c) T H AR ISAT gan
(d)  FeEMT
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vfl BN 2 v
oo wETane Conmipg omyg oo ol ux

el
(@) e (b) e

"
(c) fergonr ) St

In case of perfectly inelastic supply, the supply curve is

(a) horizontal (b) vertical

(c) downward sloping (d) upward nsing.
i FAER oA & a3 A, oft 7% T 3
(a) @ (b) 27T

(¢ = (d) FATE | [:j

(iv)

a1 AN THAEE TS 7 7%E A5 z7E oAl 7

(a) 1978 (b) 1980
(c) 1981 (d) 1985.
National Rural Employment Programme started in the year

(a) 1978 (b) 1980

() 1981 (d) 1985.

et sedor e e 1 A g ot

@ 19787 (b) 1980 H

¢ 1981% @ 1985 (]

———
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(a) 1952 A (b) 1956 A~

() 1958 A (d) 1960 7

Life Insurance Corporation of India was established in the year

(a) 1952 (b) 1956

(c) 1958 (d) 1960.

(@ 19524 (b) 1956 H

()  1958% d) 1960 H1 (]
T9at / OR / AGdl

fory aiferen e Afore 20

(a) 1981 A (b) 1985 A

(R, 45N (d) 1995 M|

World Trade Organisation was established in the year
(a) 1981 (b) 1985
(c) 1991 (d) 1995.

fasr =R W ) o g ot v
(@ 19817H ——

(¢ 1991 # @ "19es i [:j
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(vi)

e TR CFTa 51 Gy wgfs 2w

a)  SEe
(@) 1 (b) Forsmd

. G
(() 49 LR ((” \”gm |

For a giffen go i

g good the shape of the demand curve is
a upward risi I
(a) P d rising (b)  downward sloping

hori
(c) orizontal (d) wvertical.

forelt A & & Qw5 a6 1 amew &
@ FWEAIBA G (b @ A Rl 2 ET
() &t (d) T (]

(vii)

—

(] (wessen

FAIE T 7T @R WS
(a) SR (b) e

) e (d) ‘U spfeR

The shape of the short-run average cost curve will be

(a) - concave (b) downward sloping

(c) upward rising (d) 'U' shaped.

ST 3T S Tk 1 STEHR BT

(a) 3FEde (b) F° W A Rafa #t 3R I

(@ FW @ R I g (d) U’ FTHR | ]

/ OR / Juar
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sy a8 (MC) (1

(a) PUETR st 2T A1

(b) s fremd @ o T 2
(©)  Purg Swdormd 2W A

(d) TS AW (AC) RS T F{re cow 33 |

Marginal Cost (MC) curve

(a) never slopes downwards
(b) initially slopes down and then slopes up
(c) never slopes upwards

(d) intersects the AC curve at its highest point.

WW(MC)WW

@  wY e @ e

(b)  Ue FATTHT e Feaet gt &
(¢ W FeEmE e e

(d) HHd AT FF H gared a5 W firerdt E1 (]

(vidi) € G TG AT 54T 39 AT ST A AW =16 21 anfiye @RS
(@) 19 @%@ (b) e RS- (i W

(c)  ofe® aymw s (d) o 2 e @f

mema) (meseov) SCI@NCEMaster.in SIS




' e A @

L +(12)5043-(11)8-(NS)

The first order
or i
, Necessary condition for profit maximization of any firm is
that marginal revenye which
“h1s

(a) greater than average revenue

(b) less than average revenue

(c) equal to marginal cost

(d) greater than marginal cost.
W@%mmhmwm sy Y & f wiwi s
st fe

(@ G AR AH R (b)) shaa 7T A FA A

() WA TE F TR A (d) Wi AT @ Auw @ (]

ix) o EfeRe et @ of sfeafenpe e e R fwe 2 a2
(a) OTEH VA O
(b) T @ T WO QT TSR (R
(c) ﬁwmeﬁmwuw

(d) oo fAmrel ANETe §3) Ry W |

Which of the following characteristics can be identified as that of a
perfectly competitive market ?

(a) A single buyer
(b)  There exists no difference between the firm and industry

() Entry to and exit from the industry are not free

(d) Each seller sells 8 homogeneous product.

9 of 20
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wmm%aw%mﬁﬁwﬁ@mmﬁmmm

e ?

@ e @ e

(b) e JE & S HIE A T R

(© i A wANT 1 S O T &

(d) W fashdl GHAAT ICU i farsht e &1 ]
_ w9al / OR / el

sjef sferifire aremm @@ ol sEre e o G @E a1 oG bl

oo

(a) ofRcam=efcay (b)) oife 39 @ ST

()  onfes I @ Frwemd (d) W NP I AH FH A

The second order or sufficient condition for maximization of profit of a firm

in a perfectly competitive market is

(a) Marginal Revenue = Marginal Cost
(b) Marginal cost curve is upward rising
(c) Marginal cost curve slopes downwards

(d) Price less than Marginal cost
gt yfqantt SR § U6 F & fYsdy oY AR & fou By w5 e

TG I @

(a)  HHd 30 = WHiq T

(b)  WIHI T T BT FEATE g

(c)  HH AN a5 I U@ g

(d)  Fad dEid G FH aa ¢ ' ]
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(x)

RARS L E e PR A —

U A (b) oera 7

(€  fa=m (d) sEEfa |

Which of the following names of economists is not associated with the
studies on poverty ?

(a) Dandekar (b) Pranab Bardhan

(c)  Minhas (d) Mahalanobis.

= | /6 st & amy et W anmae 4 gty 7@ E 2

(a)  &EH (b) ST ST

(¢ fa=m (d) HeerHad | (]
2. fasfafie el Tea wie ( Ram eafl a9y ) - 1x10=10

Answer the following questions ( Alternatives are to be noted ) :

frafefad weat & W o ( e T W == § )

(1)

3% at g crean -

fory fere siewe fe Frtea =8 1990 et |

Write True or False :
WTO agreement came into effect in the year 1990.

&l a1 e fefau ¢
WTO &1 GHEAIT 1990 H HTERIe g

T:/Ans./3:
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fo At g1 TN
Sraeard I3 AT (LA HHAT AV By wvafsrazra ol

Write True or False & ‘
The Narasimham Committee gave its recommendation on the tax system

reforms in India.

g& ar e fefan
wrRa o & yonelt GUR W e wfufz 3 3ua fawfor fean
¥:/Ans. /3

(1) ﬁ%mwm
ORI G WA IVEI CHTE {EW IWCE |

Write True or False :

There is inequality in the distribution of land ownership in India.

TE 4T T o :

IRA H @ &1 e § sremma €
¥:/Ans./3:

sciencemaster.in
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foe at et ceTeat

vaufl (@Y oyw@ FRews o @ T

Write True or False :
Seasonal unemployment is found only in agricultural sector.

& a1 o fefEu
M@Ilﬂ'llil%ﬂﬁﬁqg}aﬁmmgl

®:/Ans./3:

AATHA 9 B
RINE 2ol HAIET @ @INET *1oad] 76w Tl 277 AW TF, O (TN 9T+

Fill in the blank :
If the percentage change in price and percentage change in supply are

equal then the value of price elasticity R 10T,y T —— .
feh M Y gfd HIT :
e s ol oREds qur giT & siove R aER @ & a9 gfd B
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(ivy feagem:
5 sfrasohe A AVA ey e 2o on Seorw amsz o

Write True or False _
The minimum point of average variable cost curve is called the shut down

point.
e ea fefEn
3 ofadt #id @@ & s fag # #m 4z fag Fer 2
¥:/Ans./3:
w4al / OR | HGAT
b= ot & ooown -

T THCRE T TEH @ I GH € T A7 97T T 57 |
Write True or False :

A firm earns supernormal profit when price and average cost are equal to
each other.

el a1 7T foihau -

e HIFG 7Y SAET AT TF K & e eIl € a9 UF FF AEIET 79
FAET E

¥:/Ans./3:
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(v) 5z a Caallag o\ BB

% A1 H4w T
1 219 am a1y arwa s gw
Write True or False :

Mz’lrglnal Comt cqua]s 8"Cmgc cost where average cost 18 minimum.
wet a1 e fad
&l 3aa e FEam oAt i o st @A & aE g 8

T:/Ans./3:

¥9al / OR / AGAT

e a1 g1 e -
@ P52 a3 @41 TeAws FrHd AAEAE T |

Write True or False :
The total fixed cost curve is parallel to the output axis.

vﬁmnaafaf@q:
ﬁﬁmwmawmaafﬂwima‘m%l

t:/m./?:
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(vi) v oEe ¥
5o1fs e GRS B oY ACMFATMZN ............. A1 |

Fill in the blank : :
Indian rupec was made fully convertible in the current account in the

Year ......cccoeeenrnee

ﬁmmﬁqﬁaﬁm

- § R BT H wie] @R A qut w9 @ afeEer SE
¥:/Ans./3

(vii)  *FEN o @

TR0 FIPEA Tr8RI (A& ATGAI O] FW ..o AET |

Fill in the blank :

The Government of India introduced the Jawahar Rozgar Yojana in the
YERT ssuseonesvsrse

ﬁﬁmﬁgﬁrﬁfm
YA TER T oo ¥ SERR TSR FST I YEA |
¥:/Ans./3:
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(viii)

[ATHIA *[A A

w¥ AP
T CATTALYA CBCD 2N oifigan Gespoore) oy —

Fill in the blank :

In case Isgui ' i
¢ of disguised unemployment marginal productivity of labour is

equal to ................ '

e T ) oy =iy <
fdt g2 ARSI & e oy &) dnfe Il & arat §)

©:/Ans./3:

foa at =1 et
ol eifSrarfirerges AeTE Tl ojuw U Wil &1 @ F )

Write True or False :
In a perfectly competitive market firms sell products at differentiated

prices.
& ar ot fefaEu
@Wmﬁmﬁwﬁﬁfﬂﬂaﬁuﬁwmﬂﬂﬁﬁl

©:/Ans./3:

sciencemaster.in
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(ix) *[ATEA o3 A
wfired N af oleua @ TedAmA A Ffm ¢

i AAIEAS 21|

o, WA CTTA Gy

Fill in the blank :. .
If cost of production increascs as a resu

the firm's supplv curve will shift to the ................. .

e T &1 gfd T
m@m@ﬁqﬁémmmwﬂwwmzmm

It of increase in Wages of labour,

¥©:/Ans./3:

(x)  FER @ I

Fill in the blank :
If the absolute value of price elasticity of demand is 1 then marginal

FEVENUE iS ....coccoevvnnens

ﬁﬁmﬁ‘{ﬁlaﬁﬁu
A T $Y PEG A BT 9H TH 18, A A N s gl

®:/Ans./3:
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'I“"ST'“’}?"'W:
‘ L B [hg k0

Fill in the blank : | i 1
If the absolute value of price elasticity of demand 1s greater than

marginal revenue is .............. . than price.
fr == = gfa Fife
afz " F FA i woww A @ e §, @ HeE 3 e
........... z
T:/Ans./3
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